
6.11 Integration by Parts  
Calculus   Name: _____________________________ 
Find the integral. 
׬   .1 𝑥 secଶ 𝑥 𝑑𝑥     
 
 
 
 
 
 
 
 
 
 
 
 

׬   .2 𝑥 cos 𝑥 𝑑𝑥     
 

׬   .3 𝑥 ln 𝑥 𝑑𝑥
ଶ
ଵ      

 
 
 
 
 
 
 
 
 
 
 
 

׬   .4 3𝑥 ln 𝑥ଶ 𝑑𝑥    
 

׬   .5 𝑥 cos 4𝑥 𝑑𝑥  
 
 
 
 
 
  

 
 

   
6.   The function 𝑓 has a continuous derivative.  The table gives the values of 𝑓 and its derivatives for 𝑥 ൌ 2 and 

𝑥 ൌ 7.  If ׬ 𝑓ሺ𝑥ሻ
଻
ଶ 𝑑𝑥 ൌ 10, what is the value of ׬ 2𝑥𝑓ᇱሺ𝑥ሻ

଻
ଶ 𝑑𝑥? 

 
𝑥 𝑓ሺ𝑥ሻ 𝑓′ሺ𝑥ሻ 
2 3 5 
7 9 െ4 
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